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i ERIERE

B3 B3, bRFRAPEAREMFHERRENIE
% % T - R

#3T

A6 7 R R T A Pl
B
Wi
bR AN AR T i Pl
By
14X S A

Sciex TRAP 5500 A8 B Bk (o ik SR 6 = E PUARAT BRI TR
BRSO RRIBA R, HAENA.

2. 85 FpR
RIEFIKA—GK: FE. ZHE. PR, SELmntila; Sa%
fl/NiE Bl 58 S AL AR £
G|
3. bt - VR A S
REX AR 52 AT GE R R T R AT R o
3

4. BT B

B, MiE. RRFRE0.S g CEHE0.01g) , BF2mLELEF, WA
20.0 u LA ELAN RS EARE AL E AW ARR AR T, RIRE/E R E30
min. O] mLZ.J§, B 25 RIBRS, RIERES30s, E@ARE1S min, 10000
r/minB5 0S5 min, B EEWRFFFL.

R EL1.0 mL it 5 A EARZE RS 46/AME, W HR, 10 000 r/min
B0 min, BUEIEW, BT -8 MR A BRIBAR Ca - AR IR A E




1B,

B4 R B = B DU AR AT R A (LS. Sciex 5500), ilfE: Ion Pac
AS 20(250mmx2.0mm, 10 pm).

A €38 A BB B = BB DUARAT AR X (RIS Sciex 5500), &i&fE: Waters
CSH PFP(100mmx2.1mm, 1.7 pm).

2B BRI B AR BLE I iR B R AT RO
3.5 i 4 A

BFYE: BmEETIR (ESD
AfAR: AETFE;

& BsR: ZREEN (MRM);
M EHEE (1S): -4500V;
M BETEEE: 550C;

FWSES (GS1): 60 psis
KMSESH (CUR): 30 psi;
WBNSES (GS2): 60psi. HERESHAL TR

#1 FRiLE&H
e HET FEF EfEHRE | AEEEE
o m/z m/z (V) V)
83.0 67.0% -100 30
SRR
85.0 69.0 -100 37
99.0 83.0% -100 36
HERIR
101.0 85.0 -100 38
SRR 89.0 71.0* -100 30
BEBRB AR 107.0 89.0* -100 -36
FiC N ERS T
4,505 R,

SURR Eh A0 g |BR ER 7E 2.5-500 ng/mL 1 0.25- M,
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